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The Conceptual "W nMon:
(:192 PW23) 12121502 WX NN DX WX T IAX .1

This is not the X1p0n of the X111 by the way.

(:2 1) 212 M WK IMa .2
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D777 XY 77377 20 XY M2 020 D20 1T 070 DU 1KY 0700 28 070 000 DU PR U
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(:2° fvam) oW My

Daf Yomi 1171m:

We just started the NJo0n, and | am already writing about 71711? Huh? Well for some this is not the first
time going through the cycle, but even if it is, perhaps you should always be thinking about doing 7171m7.
Here is a question you can referance after finishing the NJ0n to see if you learned 1’3 well enough or if
you need 117IT:

What are the two double X7117’s in 1’10’3 NDON?

The answer is later in this post.

QX711 D°KXIN
X70Mm "M

| think X701 "7 had at least two sons:
(:X% Pw3) X701 2712 X°H1N 1
(.77 VPR TWN) XT0M 12 N1 M
| think T2°WwpP 1 and X212’ 1 were a later generation:
(.17 o°’roB)
And he had at least two daughters:
(:np NAw) 7NI2% X701 117P K
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From the X711 in M272 there you can see that X701 1 was a ]i12.
So his daughers were married to X214 71 and X 72 °n7.
When Xnr 12 °n7 died she remarried X171 over Ten years later.
(:7% Mn2?) >XI 728 PXNUT XIX 7P 77K INAX 1327 23370 X X701 ' 022 X277 K
(ow aw, ibid ibid) "M XN 72 0T NWRIN ‘|"?SJ3 X DI WL Paww! nax a1 oten
5197 PPw X701 172

In the household of X707 "1 there were 60 weddings.

The 32nd X2X:
(:12 M2IN2) XD XIAX

He was the 1Mnn of XH5 .

MaxX 73 127

He might have been jnm1 "’s father in law, he certainly was his *37 as 2111 "7 quotes his teachings all over
o"w:

(:0 M%) 121 072 7D 220K D27 APUN 1WA K 1AM 12 721378 13279 A 12 72772 KT KT XOX
(:70 Mn2) I MPIPX 1IPK T MAX 72 7127 0K 13 " INX
| brought that last quote as an example. Here is another one:
(. mwn wx) oNe’on ors mwn w1 7Y 01 7OwL X AN 72 727 X [[alah S inlal:e
So maybe he was the X1 7, | am not sure.
He had a son named Xn11:

(3 Pru) b ’INP MAX 72 7377 73773 XN XM 772X TNXK
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Here is a J72°0 to remember that w11 XY N KXW according to everyone. The 12’0 is that if he is dead,
then he died in the past. Well if it is in the past we don’t need to worry about it.

Rafiki — then hits Simba with a stick on the head!!
When Simba asks him “What was that for?!!”, he replies
“Doesn't matter - it's in the past”.

(Disney’s “The Lion King” Movie)

A P11 Vort

mn2nma

Here are two X77’s that appear on a X 71U 12 77:
(P23 0P TR) MM Wil
The vort is that if you keep learning like X177 "1 then Hashem will lengthen your days.
1 pnn?
It doesn’t say 12 D°pPNM>.
Maybe we could read it as those who become strong through it. PXu1 NX X3 K.

Be strong. Keep learning till the end of the N20n, and finish the NJ0N. You are almost there. Only one
more after this till the end of 0°w1 770. You are basically half way through 0”%. Don’t stop. Keep going.
You can do it. You can finish all of 0”"w.

You can finish all of 0”w.

You can finish all of 0”v.
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Daf Yomi And 17117:
What are the two double X1M11’s in 110’1 NJ0ON?

Answer:
(:i'D ]’D’J) [malaknialintiniciafa o)l

(.12 P©°1) °9 X721 >N °20 PO N2% M2DX

console.log(answer);

Execution log

10:43:08 AM

Notice

Execution started

10:43:08 AM

Info

[ 2 »mh Ry, mndXA DX pwawn P
10:43:09 AM

Notice

Execution completed



